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fREEHEIA 81, 039, 050| 81, 039, 050 0
RERFTEEFEILA 71, 635, 050 71, 635, 050 0
Z Ot FHEIA 9,404, 000| 9,404, 000 0
HEeEHNA 9, 404, 000| 9, 404, 000 0
NG L RE N 0 0 0
ZHF BB S UL A 6, 000 5,492 508
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Tk BA L 3 32, 755, 215| 32, 755, 215 0
WEE5XH 12, 973, 742| 12,973, 742 0
JEH BB 5 X H 6,579, 442| 6,579, 442 0
IRIgAR A 3 491, 700 491, 700 0
IRERFIR 6, 630, 000 6, 591, 379 38, 621
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M e (%) 50, 000 35, 621 14, 379
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R AR 180, 000 165, 960 14, 040
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i e 25 1@ B S 105, 000 101, 020 3, 980
HHENF7CH X H 60, 000 58, 700 1, 300
FHHFER B S 440, 000 427, 147 12, 853
FI1 R BA 2 S 10, 000 420 9, 580
HREL e S 150, 000 136, 816 13, 184
IEREE i 290, 000 272, 674 17, 326
i 1E R S 150, 000 135, 466 14, 534
SO 150, 000 142, 159 7,841
E3 g S 90, 000 71, 640 18, 360
FRR 680, 000 673, 247 6, 753
BB H 1,260, 000| 1,255,485 4,515
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BER B TE® rEEG |ZRW-0) %
PRSFRE 100, 000 99, 750 250
i BRRERXIM 120, 000 101, 750 18, 250
Eﬁf % HESTH (%) 40, 000 34, 326 5, 674
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BRI R &R (12) 11,369, 741| 14,858, 409| A3, 488, 668
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